- 170 -

) 9 1HBhE (H) 1 HBhE
A E E o B OF N R i
BE | R OAE 5 FoE MR G B
H A OFE | R OB B ¥ooE M K P N o m i i
EREZH4 5 E | = o b
fabRna 2 2 B4 40
OTHBE KR 5 i F5 3 300
AL 300
HARTHEAHS 300
O BE Rk A Jek % i F5 3 20, 409
FHR 28
56 1 BA FEOoR 23
B T ROk 5
CrBst 20
I O Bk 20
THiHAaE 20, 361
TH B A A e R R 1 19, 244
SRILAS AR T 7K 8 $efve 1o
# 971
TH B R AR R 5 223l
Bk Rk L 146
g 491,582 467, 026 24, 556 19, 300 19,700 452, 582
(%) 10 BEH (H) 1 BERBE
1 #EEE 1,005 1, 005 0 1,005 1 % fif 123\ OABEERBLFHE 991
& FEH Bk B A 714
8 ik # 187 HH LT BaZ B 714
3 fife 36
18 A4 fli) 95 S fif e 36
B A A 4 £ HITHE 120
HEEZBEMITE 120
eI fifc £ 26
JUIN X T R 2 2 B
&K 2 e ) i e 26
BHEE 95
B AFRESEG A




) 10 BHE (\) 1 AERBH

4 87

FEVG « i b dol b 2 25 L%
b & A4 8
OFFHEEETAESRE 14
FEH Bk B AR 9
BB R AS T B 9
# HITHE 5

BEEELASTREN
IFHE 5
2 HERE | 129,352 113,232 16, 120 3,619 21,824 103,909 1 ¥ B 14,598 OFE 3 6, 122
2T AT K 5 i 1,769
2 %4 B 32,721 2 G AT K 5 1,769
RFY 303
SR T M5 24,203 ZEHEET R B IR T4 303
— kA A A 126

43 B B 13,909 SEHEET B B LG
AHE 126
T B & 2,946 PPN g 2 185

S HE R B SRR
8 ik # 1, 056 e 185
3 fife 70
% W # 2,305 S it e 70
eI fifc £ 154

% % % 1,936 EEUTNAT ks S
fife £ 75

12 & Gt K 12,751 AT REE RS#S N
fife £ 75

13 8 AR K TF 12, 536 JUNHRKTHET N A E E S
g5 M HWAESHHE RS - BlghfE 4
MER S TeE = ¢ 481
L7 fi ot i A 98 HFE 481
FI il A 125
18 &4 fligh 9,919 I il 8 A 2 125
K OT A 4 Bk 11
G 11
24 B8 T & 365 T ¢ 163
— 5t 10 #E#H

- 171 -




- 172 -

(H) 1 BERBH

A E E o B OF N R i
(ETEE S S S o ¥oE MR - N P B B
e o e om 7 & W
26 v i & 9 BRELE 163
fifi i 1B f ¢ 200
NGRS = 200
D= B R 122
TR = 122
T AE 111
HE TR 111
FHR 36
T Hort 17
HR T ROR 19
CrBRt 101
HE) R FERBRA ((EE) 73
HEy SRR (AR
) 28
itk 331
HECAREIRE R 2 M R ATk 131
Bk PR 11 £ FH e 2 5 U it R
Witk 200
{55 R 970
2P A — )L ELEE R DR 159
HkHE @ TR 10
BT H 5 R 9
SERERIN A IS — B 2 F)
JeEb 792
ik 29
AL 2 7 v —HF 20
waEKY — 28 9
=EiER 826
B AR RSEAS AR
& 48
Prvg « peE i 208 £ ek
SAEE 20
[N up:  EWANE RE S Srd oy 75




) 10 BHE (\) 1 AERBH

REBSAES 10
VRN N7 7R it st e i H i 2
AHE 16
5 BT Pa AT AR R ol <2 B2
HAHEWIESEE S AEE 20
5 BT PaAA TR A ol <2 B2
HAHEMESERTEHAHE 20
5 BT P AT AR S R OR Akt
SAEE 56
HHET B E WIS A 60
Fr v i DX R X 25 3 [ B
PRHLX 7758 2> A 4 2
Hh A A < 574
YN L 9
AN iRy ) 9
O# B F3%E 1, 495
i Bh < 1, 495
B RER DI S i R 1, 495
O EFHFBHFE 4, 545
2 G AT K 5 i 3, 520
25T AT K 5 3, 520
— LG AEE 224
SEHEET B B LG
BHEE 224
2 RER 340
SEHEETHE B4 SRR
i 340
3 fife 131
o i e 131
MER S TeE = ¢ 10
MER S TeE = ¢ 10
fifi i B e e 10
fii i B e 10
{5 AR 174
ALTFEAE R 174
BHE 136
AETE T AR ER LS
2t 10 #E#H

- 173 -




- 174 -

(H) 1 BERBH

A E E o B OF N R i
(ETEE S S S o ¥oE MR - =N o 3 B
eI Y &
AHE 92
A B LAz AR AR 1
W AHe 20
HHEE TS EH RO &S 24
OVTHE =B REaLHE 30
F+ 30
TNE =B EE IR 1 30
OFLEIFE -4 4 1
Fv- 1
TL RN G R 1 1
OfFHo—%2Y) —27 7 JREREY
SHS
FHEAT 4 1
FHO—4%2Y)—27 TRE
WS ISR 1
F5-
FHO—4%2Y)—27 TRE
T 5
OB HHET 52 & E3REEGILS 48
F-+ 48
HHET 525 & LIR24 T4
F-+ 48
OHUE BRI 280
F-+ 280
HUE e B i 56 4 Fl) -1 280
Ot R F3E 162
WmE 90
HHAR BB 90
3 fife 32
FHEK B ik e 32
MER S TeE = ¢ 31
e E 31
A T 9




) 10 BHE (\) 1 AERBH

G FAR 9
OF R IR B A ZE R 2, 495
2 G AT K 5 1,612
25T AT K 5 1,612
HRTY 332
ZEHEET B B IR T4 332
— kA A A 140
SEHEET BB LG
AHE 140
PPN 2 200
S HE BT B4 SRR
i 200
L it e 7
S it e 7
HEEE 50
HEEE 30
5 E T R B 20
JeEUKE: 49
5k 39
Kk 10
BREHE: 10
BRFHE: 10
TEAS T 95
HAEG) TR 1
Hanfl 72
TaNA X~k 22
OBEERZ7—NVhT v tT7—H
B 2,158
WiE 2,000
20—=Nh7 vt T -4 2, 000
T8 ) fife 158
T8 ) fife £ 158
OPRERMER LR R B3 3,923
G EEAT K 5 i 2,657
G EEAT K 5 2, 657
HIRTFY 638
SEHE AT BB IR T4 638
A%+ e
=0 10 #HEE

- 175 -




- 176 -

(H) 1 BERBH

A E E o B OF N R i
(ETEE S S S o ¥oE MR - N . G B
eI Y & "
— B G A e 254
SEHEET BB LG
AHE 254
PPN 2 374
S HE B B SRR
¥l 374
O/ T C T 2RTEH 2E 25, 248
TS 1,584
TS 1,584
RN R RER 440
T b7 — R RSP RGE
¥l 440
Zitkt 11, 880
[ CTBEEIER 11, 880
{5 Rt 739
D A )b 2R R T HOR 561
P2 H N R EAS fll 1B 1l
FE i E & 178
ik 10, 605
ZHEEH Y av ) — 2k 3, 861
K —8— 1 — 2k} 2,229
BwEY — 2k 4,515
OQ—U7 v — hEhFE3 879
MER S TeE = ¢ 879
MER S TeE = ¢ 879
OBGRBEM 7 E R 644
WmE 556
il 7 7 AT A < 556
#HITHE 88
i 727 A A 2 1 88
OVl »EMEITEIRER S
P 40
FEH E R B 30




) 10 BHE (\) 1 AERBH

WU DSEREITEI IR E B
272 B 30
#HITHE 10
WU DERETEI IR E B
ERBEME 10
OF->THESRHE 300
WE & 200
IV TSR AY 200
1 il 8 A 2 100
1 il A 2 100
O E B FEE AR E 5% 672
25T AT K 5 i 672
2 G AT K 5 672
O/ EEEIREF F3E 4, 004
2 G T AT K 5 3, 360
2 A AT K 5 e 3, 360
— kA A A 216
SEHEET BB LG
AHE 216
PPN 2 324
S HE BT B4 SRR
e 324
3 fife 20
3 fife 20
£ ITHE 84
ST T B2 A 84
OH VN =wEVIC B AFHES
P 239
WiE 100
AR 4 100
MER S TeE = ¢ 20
MER S TeE = ¢ 20
Zitkt 100
R EI T EZRER 100
{5 R 19
Vi s s Fi ke 9
s 50 AR 10
2t .
= 10 #F%E

- 177 -




- 178 -

(H) 1 BERBH

A E E o B OF N R i
(ETEE S S S o ¥oE MR - N . G B
eI Y & om
OFAFT « THANF—HELIEF
E 98
BRI A2 98
BObE G o i A e 98
OA HHT 27k kG £ A B A )
¥ 7,462
i Bh < 7,462
Vil v 1 5 SR A £ e w8 <2 7, 462
OFIG By H Ik 178 5 35 3 200
FEH Bk B 150
BTG EN USRS A TR R B
7= B 150
#HITHE 50
BTG EN USRS A TR R R B
Z BB MITE 50
O/ g 1 B 1 P 1 53 1,124
JEH Bk B 828
T2 B 828
#HITHE 252
FRETABEMAE 252
MER S TeE = ¢ 44
MER S TeE = ¢ 44
OANtE 67, 177
K DR AG 6,276
K DIHRAG 6,276
— R HRAG 26, 445
— R HRAG 26, 445
HEFY 1,998
— R Y 1,998
T4 287
— S Mk 3 A T2 287
REfE] 7+ ) 85 24 1, 186
— IR R A ) B T 24 1,186




) 10 BHE (\) 1 AERBH

PR I T 24 20
— R PR B R R T
4 20
BT Y 981
— R PR R T Y 981
IR 24 1,985
eI R 24 1,985
HRTY 5, 960
— IR 24 5, 960
T4 4,757
— IR T 24 4,757
STy 910
— R Ty 910

— R GR I TG AL S A 2,963
—BBOR T Y S AHE 2,963
Fri ORI T4 /L & A5 1,883
FralBoR T4l &5 AHe: 1,883

FERIBR L T & A S 1,814
FERIBR L G o A S 1,814
— B S AEE 8, 898
— B S AEE 8, 898
FERIRR N 75 55 A 4 13
FERIMR N 75 58 it IL 8 A
4 13
— RN T 5 A 62
— RN T S E L A
4 62
FERIIR H A 8 o 128
FERIT H A 8 o 128
— Bk A A B o 602
— Bk A A B e 602
HES MG EH 9
FERIRRIH BAA A 2 2
— kI EAA A E 7
i 130, 357 114, 237 16, 120 3,619 21,824 104,914
2t 10 #E#H

- 179 -




- 180 -

) 10 ZHEE () 2 NERE
A E E o B OF N R i
H AR E ] B ¥oE MR - N P G B
I T & 8
FRCEREL| 198,610 164, 960 33, 650 1, 450 11,377| 185,783 1 #H [ 6, 407 |OA M/ INF R i o PR i 3 6,171
# FEH Bk B A 529
2 %4 Bt 49,530 PR IR 170
Pl 15 169
3 kB Yy 18, 074 S e 55
TR ek 2= 22 B 135
43 B B 13,113 HWE 4 14
VR 14
T OfHE O 146 3 fife £ 9
i it e 9
8 ik # 334 H IHE 76
#HITHE 20
0% M #| 40,221 ?&ﬁﬁf%%%%é%)ﬂﬁ
1 56
1% » % 2,577 HEEE 367
HEEE 327
12 % &t K 40,163 PR B R 40
FI il A 25
13 8 B X TF 171 I il 8 A 2 25
g & e Bk 3, 983
G 3, 150
4 THEGEAE 19, 172 ek 833
PR 142
15 JiL 4 K % 165 ST ¢ 142
A T 183
17 fi ot s A 234 WY F1R 39
ekt 144
18 &4 fligh 1,418 FRE 115
K OT A 4 2 —=v IR 26
22 A TR 27
198 8) % 6, 885 gy 9
e R 4 A T J0kt 2
KB R A T HoR 15




) 10 BHE () 2 NERE

F—IF A —=F —HETH
¥t 18
Al e R A T 0k 4

A SR AV
FHR 14
CrBst 395
ity pIE PN B 395
PR 6
AZEREE SRR 6
itk 189
RS ROk 4
Ak B2 RRER 73
WS ATk 112
i FiDk} 42
BT L EE R 27
NHKT L E 3248 15
o FLAE A 2 96
S NG = 96
OF HHE/ N Rk 15 B 4 3 16, 039
JEH Bk B 514
PR 170
B 1= e 169
SR i s P 55
PR ek 2= 2 BRI 120
WE 64
IR 64
3 fife 28
3 fife 28
EHHTE 60
£ ITHE 20

TR E ks BB T
& 40
MER S TeE = ¢ 1, 354
MER S TeE = ¢ 1, 294
P R R 2 60
FI il A 74
FI il A 74

INZE

2t 10 #HH

- 181 -




- 182 -

() 2 INEREE:

A E E o B OF N R i
(ETEE S S S o ¥oE MR - =N o 3 B
eI Y & "

Yt E K 12, 137
G 8,410
IKIER 3,727

BREHE: 90
PREHE: 90

T AE 395
HE TR 30
Bkt 365

FHR 161
) —=v IR 34
72 A RO 27
gy 9
Hed e 4 A T J0kt 2
KE WAL FHoR 63
F—=VF A= —BETH
o 10
B s TR A T HORt 2
AVE=y hNNVFVT
FEk 14

(e 394
) 56 R Bkt 394

EST 11
AR PR 11

Zitkt 715
RSB ARRS RE R 4
A B2 Rtk 153
WS RER 558

{5 R 42
HT L EFERE 27
NHKT L E 32155 15

Ok B E Bl 2 10, 504

FEH ElyHak 5 484

R IR 170




) 10 BHE () 2 NERE

Pl 15 169
K] e 55
TR Wk 2= 22 B 90
WE & 38
IR 38
- ik e 28
S i e 28
#HITHE 50
R E 20
TRIEE s BB AT
{11 30
HREE 771
HFEE 731
PR B R 40
FI) il 4 A 50
FI) il A 50
JeEUKE: 8, 050
5k 6, 250
Kk 1, 800
PREHE: 84
BREHE: 84
TEAS T 77
HHE Y F1R 46
ekt 31
FEk 165
) —=v IR 30
22 A TR 27
Z Ak 9
HE R 4 A T J0kt 2
KB R A TR 48
F—IF A= —REFH
i 31
AT e R A T Ok 4
AV B—=Fy bV FT
FEk 14
[ENUE e 192
T 56 R Bkt 192
N
2t 10 #E#H

- 183 -




- 184 -

() 2 INEREE:

A E E o B OF N R i
AR BE | b R ¥oE MR - N . B B
eI Y & om

SEPHEREROR 8
AEREE SRR 8
itk 410
RS ROk 4
B B is LAtk 105
IR RRER 301
{5 Rt 42
H#T L EZER 27
NHK 7L e 15
o LA A 2 55
TH KA B 55
OXIVN AR KB E I 10, 378
FEH Bk B AR 475
PR 170
Pl 15 169
A e 55
PR etk 2> 2 B 81
WmE 30
R 30
3 fife 28
3 fife 28
#HITHE 47
£ ITHE 20

TR E kR BB AT
{11 27
ER A= 584
HEENE 544
P SR R 2 40
I il 8 A 2 42
I il 8 A 2 42
Bk 8, 140
KIER 2,220
5k 5,920




) 10 BHE () 2 NERE

PREHE: 118
BREHE: 118
TS 836
HFE TR 47
ikt 39
TRk 158
7)) —=v 7R 40
22 A RO 27
g 9
e e 4% A - J0kt 2
KE WA FHoR 47
F—IF A —F —HETH
i 13
g A T 0k 6
AVE— "RV F VT
FHR 14
CrBst 199
ity DIE PN B 199
SEPHENEROR 6
AFERE R R 6
Zitk 337
W RSB ARRS RERL 4
A B2 Rtk 105
WL ERER 228
{5 AR 42
HiT L EszEk 27
NHK 7L E5iEHk 15
R 3
Fo R EHEKER i Rt 3
o L A 2 83
TH K i A2 83
O M/ i ae & PR SE 1,263
Rk & Rk e 150
Rk & Rk e 150
RSP ZR TR 909
THBLRR I S 5 ek 143
AR SRR 238
INZE
2t 10 #E#H

- 185 -




- 186 -

() 2 INEREE:

A E E o B OF N R i
(ETEE S S S o ¥oE MR - N P G B
AR e | om i B &
BT L N— Z RSP L
AUk 528
ek s B RER 164
R E i Z=RERt 98
HHEANEE N A L s Riek 66
JER R 40
s H &k 40
O HHEB/INF R e i Bl 45 2 14,513
e 1 e 861
T & fs 2 300
T— VR A i B 561
FHR 8
HOCKT S50 8t 8
RN R RER 1,123
B e i R 2 RE R 173
B SR ZERER 350
T— VG BR A B8 (R F A
BRZRER 28
BT L R— Z RSP iR
bk 515
A O S PR ORSF R ESRE
i 57
e PRZS ATk 166
KIEIZ i Z=3E Rt 65
KNS SR TR 88
U EXERZREER 13
THEAE 12, 330
Y B TF 2,034
REEEPEIEE G50 T F 10,296
JRA R 25
flife & #f 25
O /R sk & PR SE 3,940
sk & Rk e 860




) 10 BHE () 2 NERE

e 1 e 860
TRk 8
HOCKT S50 Kt 8
RAF T RER 423
THBE R AR =R TR 105
B SR ZERER 246
T— VA BR A 8 (R SF A
MRtk 28
o6 B - BB R MR R AT 44
ek s B RE R 168
R E = ERt 59
KNS MR ATk 57
EHBhERZEIER 32
T ) 5 o (0 U 3 3 20
THiEAaE 2,431
AA 7 —IRFEHSRE T F 902
MRETL 7 aVKE LS 213
AN AL ERMETE 1, 316
JER R 50
s &k 50
ORIINFR e B 45 5 7,303
Rk & Rk e 2,339
Rk & Rk e 860
7T — VIR A s g 739
BE X W 2EERE 740
FEk 10
HOCKT LTk 10
RSP ZREER 406
THBhR I Sk =5 ek 132
T — VIEER A i B E RS A
BRZRERt 28
AR SRR 246
e PRZS ATk 87
KIEZ i =3t Rt 57
R EXERZREER 30
THEE A 4,411
HA T —IEEWA R T H 902
INZE
2t 10 #E#H

- 187 -




- 188 -

() 2 INEREE:

A E E o B OF N R i
AR BE | b R ¥oE MR - N P G B
eI Y & "

ALk bR duE 1T 5 3, 509
JEA R 50
s &+ 50

OF HUNFHHERRGE w1 B.
Bh$ZE 733
7k~ 733
E AT ¢ 83
fa 225
PR 30
RS2 BRAE Bk S b 340
AR E AW 55

OF HHEINFHHE R GE
EERBh 3 3,079
Heph 3,079
E AT ¢ 516
fo 945
PR 120
FERISZ BRAA - b 1, 281
WNES N Ry = T = ¢ 217

O NP R E B R FE JE # A 1 B2
Bh3E 1,583
Beph 1,583
S A TE - 230
Kot 495
V%= 55
FERISZ BRAH E - b 694
P TNE N (Ra Y = L = 109

ORIVINFRGHE TR W LR
BhR3E 1, 490
Beph 1, 490
H 282
Kot 495
V%= 55




) 10 BHE () 2 NERE

RS2 PR AE Bk S b 549
R E AW 109
O/N R B & P 2 85, 368
25T AT K 5 4, 405
25T AT K 5 4, 405
— R IRAG 32, 354
SEHEET TS B 85
o 4, 509
S HE T B P S b
Sk 20, 873
SEHE TR B B
i 6,972
REfEI P ) B 24 347
ST EAT R Bk B
REfEIZF ) B 24 347
MARTY 7,416
ZEHEET B B IR T4 1, 794
S HE T B S b
BIR T4 4,272
S HEE T B B B
RKFY 1, 350
— LG AEE 3,105
SEHEET B B LG
BHEE 753
S HE AT I SRR I S R
BHEFHG AHE 1,792
SETE AT R B B A
HH G aHe 560
& RERR 4, 644
ST AT Bt 2 PR bR
e 1,074
SHE AT I SRR I SZ R
Bt ERBRR 2,720
SEHE AT I B B &
ZERBRR 850
3 fife 8
3 fife 8
INZE
2t 10 #E#H

- 189 -




- 190 -

() 2 INEREE:

A E E o B OF N R i
——_ 5 & MW woo
T - A = 3 oE M IR R % 2 . 1]
EREZH4 5 E | = o b
FEEH 33, 089
TN = SRR (
INF KAL) 33, 089
O/NFRMFFEEF 3 1,418
AHE 1,418
BRESAHE 56
RHEAS - RS A 24
WL NSRBI 2
AHE 12
B NERBEN RS AR 22
5 B PEAATH AR AHE « 3]
MHEE RS AEE 20
A FE DX s ol 5L A o e
SAEE 20
IR A kB 0 5 By
PERATRT AR =2 30 £ 4 4 11
VLIS T B0E WFE 2 PE AR TR
oA IS =EiE ke 2
im%ﬁﬁﬁ%%%%ﬁ@
& 4
VAR I S7 8RR 1B R e
e AaEs 7
5 BT VU AT AR R ol <2 B2
HEWMRSAHSE 180
W N R A oE 2
BHE 6
B b I & A g 10
BLD - ADIDEHEMITEE A
4 5
RN EHAETN RS A
4 5
H HET B 7T & = E
BHE 4




) 10 BHE () 2 NERE

N A < BB R 2
HAZR—VipHl+ > % —
KEHFAHS 1,010
BAEH - BB A Ik
B2 A G 6
NS REBEMRE A
4 3
Rerisk it LAl 3
WL - S RERERE T
SAEE 3
EEEEARVAS 2 od | 1=
EHRE RS AEE 3
O/NFERS ik i B 3 2 1,977
ek s BT R 280
R BT 2Rtk 280
itk 1, 697
I 7 aVibiwnEBRiTE 1, 697
OA-# 32, 851
— R HRAG 17,176
— R IRAG 17,176
HETY 300
— R Y 300
FEEFY 570
— A T2 570
)T 489
— S Mk 3 A T4 489
IREFAI A 8 15 T4 94
— BRI R A ) B T 24 94
HIRTFY 3, 459
— R T4 3, 459
T4 2,826
— PR el T Y 2,826
JLETFY 120
— R TY 120
— R T A A e 2,453
— R TS A A e 2,453
— I G AHE 4,712
INZE
2t 10 #E#H

- 191 -




- 192 -

) 10 ZHEE () 2 NERE
A E E o B OF N R i
H AR BRI OB M B ¥oE MR - N P G B
I T & 8
— I S AHE 4,712
— RN K EAHE 47
— RN S EMERL S A
4 47
— e A £ B e 370
— R £ B e 370
PPN g 2 230
TR B 2 PR Bk 230
IH AR &2 5
— IR RS R A 5
HE R 26, 828 7,719 19, 109 1, 100 25,728/ 10 % # 23,887 OFH/INFERHEREM HE 4, 878
% BT 3. 425
1% » % 139 HEEE 262
gl A 93
13 H R KO 902 X E ke 20
g H 8 R ARAV.Y: tl N
A VA E 8
L7 fi ot i A 1, 900 AR AR - S 3, 026
WHMEHZ VT 7 7 AL
ANE 16
BRFHE: 108
B 2z OB 108
fifi o B e 150
fifi o B e e 100
[ C THBREE 50
FEk 37
T AT 37
{55 R 708
XEEEEE Y 27 LR 61
AR YRS 647
o L A 2 200
BORF i o i A 200




) 10 BHE () 2 NERE

RN ¢ 250
7R X T A i e A 250
OF HF N RBE I 33 9,913
HEEE 8, 877
HEEE 944
gl A 430
XIE R 20
XY VT e XZAFR—F T 7
A VI B 37
Ve A f A I A B 151
Bl BFRE - fRiEE 7,295
PREHE: 164
B = AR 164
fii i 1 s ¢ 200
fifi i 1 i ¢ 150
[ C T EREE 50
FHR 50
E7 TRk 50
{5 Rt 72
XEFEEH Y 2T L8k 72
o AR A 2 200
BORF i o i A 200
RPN 350
27 X 2 i i o A 350
OHNERGBE P LR 2 6, 458
MER S TeE = ¢ 5, 635
MERS A TeE = ¢ 615
sl A 260
XIE R 20
F¥ T e RZAKR—=FT 7
A VA E 19
VR RS A A 53
HEMH AR - fgEE 4, 668
BRFHE: 136
B 2z OB 136
fifi i B e e 150
fii o B e e 100
2t 10 #HH

- 193 -




- 194 -

) 10 ZHEE () 2 NERE
A E E o B OF N R i
H AR E ] B ¥oE MR - N . G B
el e & |2 om| e B &

[ CTHaEREE 50
TRk 26
E7 iREFEk 26
{5 Rt 61
X EEEEH Y 2T L6k 61
YN 200
BRI NG ¢ 200
(N ¢ 250
7R X T A i A e A 250
ORINERHE I BLR 2 5,579
HFEE 4,743
HEEE 494
gl A 184
XIE R 20

XY V7 e RAFR—F T 7
A VA B 14
VR AG AR A 20
AT AR - R 4,011
PR 149
B 2z OB 149
fifi i B e 150
fifi i B e e 100
[ C T BREE 50
FEk 26
T AT 26
{5 AR 61
XEEEEE Y 27 LR 61
o L A 2 200
BObF i o i A 200
X 5 i A 2 250
PR I 5 4 i ot M A 250
3 FRHEE 12, 299 15,176 A2, 877 1, 190 11,109/ 10 2 H % 7,369 OF A/ G R 1,032




G 10 ZHEE (E) 2 NERE
# 1n#% % % 475 HREEE 300
HFEE 300
12% it H 3, 260 BRELE 429
PREHE: 429
17 i o i A 2 1,195 fif i A& e 100
fi e e 4 e 100
TR 70
B ST RO 70
RAF T RER 50
PR« VR R R
AUk 50
ek s BT R 83
BRES)—2NT v ik
R RER 83
O HHEINFRAG B 2E 5,075
MERSATeE = ¢ 500
HEEE 500
BREHE: 2,246
BREHE: 2,246
fif i 1 s ¢ 250
fifi i 1B i ¢ 250
FEk 290
R TR 86
Fo {5 = B0kt 204
RSP EER 465
ﬁﬁ@%ﬁﬁﬁﬁ%%%%
e 50
HRERAS 7 —HBEBE
bk 61
BRI SESE B Rtk 103
HAEHEY 7 MR EBERT
i 251
e PRZS ATk 129
WMREZ)—2NTy i
Rt 129
o L A 2 1,195
PEK bR 5T A 1, 195
— 5t 10 #E#H

- 195 -




- 196 -

() 2 INEREE:

A E E o B OF N R i
AR BE | b R ¥ooE M K . N P G B
eI Y & "
OmINERA T F3E 1,971
HFEE 400
HEEE 400
BREHE: 1, 090
PREHE: 1, 090
fifi i 1 s ¢ 200
fifi i 1 fi ¢ 200
FHR 59
A SRR 59
PRAF R AT R 139
5 5 o R SE B AR TR 66
HRBRA T — B E
R 73
e s BT R 83
WMRBEZY) =27y i
R ZRER 83
ORIV FRAG B2 2, 059
MER S TeE = ¢ 440
MER S TeE = ¢ 440
BRFHE: 1,214
PR 1,214
fii i B e e 200
fifi o B e e 200
FEk 56
i A RO 56
PRSP ERZREER 66
o 55 W s R SE s A AT 66
Heas s PR TR 83
HBREZY) =27y i
Rt 83
O/NFRFa R 2,162
e PEZS ATk 340
R RE R E B G




G 10 ZHEE (E) 2 NERE

¥l 340
itk 1, 822

WMREX I NEERERE
AUk 1, 822

g&@;a{% 0 31,646 A31, 646 B H &g
4 237,737| 219, 501 18, 236 1, 450 13,667 222,620
) 10 ZHEE (TH) 3 iR

1 AR 103,670 110,567 /\6, 897 820 3, 659 99, 191| 1 # [ 3,935 OF Hh Ak a4 3E 12, 593
£ SRS I 514
2 %4 BH 28,184 SR 170
B I e 169
3 kB Yy 12, 058 A i e 55
TR ek 2= 22 B 120
44 B B 8, 252 WE & 72
AR - Slamft 72
T B & 72 3 fife 28
L i 28
8 ik # 143 B HHE 60
£ ITHE 20

0% B #| 21,313 TR E kR BB T
& 40
1% % % 1,503 HAEE 733
HFE 673
12% & H 18, 149 S S VP 60
I il 8 A 2 66
13 8 B X TF 91 I il 8 A 2 66
g & #® Bk 9,179
KIER 2,659
14 THGEAT 1,230 5k 6, 520
PR 155
15 &L K 2 107 T ¢ 155
— 5t 10 #E#H

- 197 -




- 198 -

) 10 AEE (H) 3 R
A E E o B OF N R i
H AR E ] B ¥oE MR - N . B B
R s |2 o] &

L7 fiff ot WG A 22 503 A T 212
HFE TR 20
18 AL fHi) 1,248 ikt 192
B ONAE A 4 TR 202
) —=v 7R 33
198 ) % 6, 882 72 M TRk 27
g 9
e e 4% A - J0kt 2
KE WA FHoR 41

F—IF A —F —HETH
i 14
Al e R A T 0k 4

AVE—= "RV F VT
FHR 20
P HOR 52
ErBt 478
ity pDIE PNy B 478
g EN 11
AR PR 11
Zitkt 540
ERERS AR RS AR 4
A B2 Rtk 105
e TR 431
{5 AR 42
HHRT L Bl Ak 27
NHK 7L E5iEHk 15
B R PN 301
M K s A2 99
AEBE DL -l A2 202
OVits Hrp Rk B iE F 3 10, 932
FEH EHak 5 484
R IR 170
B I e 169




) 10 BHE (H) 3 R

Kt e 55
TR Wk 2= 22 B 90
#HITHE 50
#HITHE 20
TRIEE s BB AT
1 30
HEEE 664
HEEE 604
IR T 60
I il A 87
1 il 8 A 2 87
JeEUKE: 8, 225
Kk 1, 295
A 6, 930
PREHE: 102
BREHE: 102
TS 112
) TR 19
ikt 93
FRR 99
7)) —=—v IR 21
22 A TR 2
P gt 9
e R 4 A T J0kt 2
KB R A T HoR 15
*—F A— B s TR 15
AT e R A T Ok 7
AVE=y hNNVF T
FEk 14
L REVLE W A T Ok 14
[ENE e 363
) 56 R Bkt 363
SEPHRREROR 11
AR PR 11
Zitkt 484
EERS AR RS AR 4
A B2 R0k 118
2t 10 #E#H

- 199 -




- 200 -

(1E) 3 PR
Kk E E o M BN R
% & W
AR 4
KM 5 | = o] =

wo M

RS 2Rt i
{SE R
AT L EfADR
NHK 7L EZER
r HLEE I A E

ABE PR LR il A2

O M~ R i B 1R 455

TR s £
TR A% £
Brimb MBS

T— BB AEEE )L T

HuEr ik
TRkt
HOEKTAEAL 55 ¥
PREF R TR
THEh R SRR TR
AR Rk

7= VIRBR A LR E R AT

e
ErEgs SR
ks R
SO R ATk

IV FRNLiGaE

HRE
THEAE
KEH N AL ESMETH
JER R 2

s & b

Ot H - B s 2 < 5

TR
R s 2
TR RHERE

TRkt

362
49
27
22

202

202

2,714
1,142

400
500

242

565
242
295

28
211
88
83

40
748
748

40

40

2,819

960
400
560




) 10 BHE (H) 3 R

HOCKT S50 Kt 7
RS R RER 380
B R i R 2 RE R 109
BRI SRR RER 271
ek s BT R 923
R E i Z=ERt 86
B PR LB L R A PR AR 837
THEAaE 482
T A HE fifi 28 BE A T % 482
JEA R 67
s &k 67
OF H i HE R GE A 1 £.
Bh$2E 4, 475
7k~ 4, 475
R 1,755
fa 1, 498
PR 145
FERISZ B AU A2 b 897
R E A E 180
OVt H 7 e e SR G W v AR
IR S 2,407
Beph#E 2,407
FH 608
Ko 749
V%= 75
FERISZ BRAUH E - b 735
P IWNE N Ry = L = ¢ 240
@L e i3 597 1=k 38, 038
G TAE AT K 5 2,937
G AT K 5 2,937
— R HRAG 13, 463
SHE AT I SRR I SZ R
SFicy 9,132
SEHE AT BB B
i 4,331
HIRTFY 3, 285
SEHE AT BB IR T4 606
INZE
2t 10 #E#H

- 201 -




- 202 -

() 3 rheERet

A E E o B OF N R i
E[] B 5 g E B T 3 B
T - A = 3 oE M IR R % 2 . 514 1]
EREHA H S | 2 o s
S HE T B S b
BIIRTFY4 1, 869
S HEE R B B B
RKFY 810
— B S A e 1,372
SEHEETHE B Lyl E
AHE 252
S aHE T B P S b
BHFHEG AHE 784
S HE T B B B
HHA A 336
PPN 2 2,070
S HE B B SRR
o 370
S HE T B S b
SR PN g & 1,190
S HE T B S B
ZERBRR 510
3 fife 5
3 fife 5
Zitkt 14, 906
TN =y IERCH
(Frefeia &) 14, 906
OheE s F2E 748
BHE 748
BEREZAHE 28
Huns - IMHHSAES 12
BN R B RS A
4 5
[ ARVANG RE S i ¥ 1 T
=EiER 9
b2 AE WS a4 21
PG M X b o R P 4 A




) 10 BHE (H) 3 R

X ) THEWIESAESE 10

B b b A i R A Y 4y

VAS=EiEk 5

W rh PR B WEIE RIS

B AafHe 1

5 By PEAATHT AR A HERT RN

HAHEMIESAHE 10

A FH DX i L A e

SAEE 10

P4 i X B RE RS IE K 2 A 4

& 7

IR 7 258 i o B L 30

IR A E IR A0 Bl

VERATH AR SZ 3 A 40 7

WIS T BE WFE 2 PE AT SZ

TR A4 1

iﬁ%ﬁﬁﬁ%%%%ﬁﬁ

& 1

AR ) 32 BR R T R R

= afHe 4

5 BT« PERATHRR AR 51 52

BB RS aHE 72

W R A oE 22

BHEE 3

WL fE P o 2 A G 5

LD - ADIDEAE M A

4 5

BRI E AT TS &

4 3

H HETE B L & R E A

HHEE 2

LRI A B I 2 A G 1

HAZR =Vt % —

KEHFAES 487

[LREaY v R e < i T 3

LSS - SRR EAHE VI

SAME 3
2t 10 #E#H

- 203 -




- 204 -

(1E) 3 PR
Kk E E o M BN R
% & W
AR 4
KM 5 | = o] =

wo M

EEEPARVAS S v§ 31T I

HHF W IEak = A&
OB el 43¢

filighix

UM« A EER 5 )
Orpe R o B = 5

TR FE R TR

EN UV S e
ON#

— RIS

— RIS

HETY

— Rk T2

EfE T4

— AR T2

T4

— ik B T4

IRFfE] b ) 5 T 214

— AR IRIRF R 2 B P 24

WIRTY

— AR R T2

LT 4

— IR T4

AR GR I T YA o

—ARGR I T YA G A

— IR & A

— IR 5 A

RN P 9 fH

AR P R AL B

H

— IR GE g

— IR Gaa I

MG &2

I e

500
500
500
140
140
140

28, 304
14,721
14,721

78

78
420
420
176
176

74

74
097
097
574
574
354
354
469
469

39

39
298
298




— R IR B A A A 4

7,119 8,224| Al,105 620 6,499 10 & H % 4, 573|OfF A PR AE e BR3¢ 3,121
HRE 2,110

1% % % 76 sl i A 1,153
ERIGEY o o TR 801

13 f H R KO 1,470 XIE R 20
FE = S ERERG BRI A 76
ook G WSkt 60

17 fiff ot MG A 2 1, 000 fif i A& e 400
fi e e 4 e 350

[ C T EREE 50

TRk 50

v 7 TR 50

{5 FiDk 61

X EEEEH Y 2T L6k 61

a HE A 250

BObF G o i N e 250

(NG ¢ 250

PRSI 2 i ot o A 250

OVif Hp AR E IR F5E 3,998

MER S TeE = ¢ 1, 608

il e A 787

SRIGEY « 2 IR 684

X ke 20

AERERG AR A 57

HoTHE Corhd) WEaekt 60

fifi i B e e 455

fifi i B e e 350

[ C T BREE 105

FEk 26

T AT 26

{5 R 1, 409

XEEEE Y 27 LR 61

PASDIRC IR 1, 348

a HLE A 250

BORF i o i A 250

10 #HH

- 205 -




- 206 -

) 10 ZHEE (1) 3 HeE e
A E E o B OF N R i
H AR BRI OB M B ¥ooE M K . N . B B
el e & |2 om| e B & "

RN ¢ 250
7R X T A i e A 250
FRGG R 12, 825 15,909| A3, 084 12,825/ 10 & % 3,593 OfF W RiAa R F 3% 2,505
£ TRESHLE 500
1% » % 291 HFEE 500
PREHE: 943
12 % it K 1,005 PREHE: 943
fii i 1 i ¢ 250
17 i o s A 2 7,936 fii i 1 s ¢ 250
TRk 89
A SRR 70
T Hokt 19
RN R RER 594

BREAHIL N— Z Y
MRZRER 594
ek s B RE R 129

HBREZY) =27y TG
Rt 129
Ovifs i ifa fEhE 10, 148
HFE 526
HFE 526
PR 1,124
BRFHE: 1,124
fifi i B e e 250
fii i B e e 250
FEk 202
R TR 72
Fo {5 = B0kt 130
MR E TR 110

HBREZY) =2 N7y i
Rt 110
o L A 2 7,936




G 10 ZHEE (1H) 3 o
Sy RER i Lk i NG = ¢ 7,936
Ot B 172
ek s BT R 172
fofr B E KR EH AT
o 172
7t 123,614, 134,700, All, 086 820 4,279 118,515
) 10 ZHEE (H) 4 #H2EHE
1 &% FE 63,216 61,572 1, 644 1,292 5, 896 56,028 1 # [ 3,056 OB ERBEFHIE 8, 473
Bt 2T AT K 5 i 2,984
2 %4 o 16, 481 2 G AT K 5 2,984
— R IRAG 1,239
3R T 5 12, 656 ?ﬁ%ﬁﬁmﬁﬁ%%%é
& 1, 239
44 B B 6, 045 IRFFE] A 15 24 67
ST EAT R B B
T B & 2, 383 IRFfE] A4 S 15 24 67
IR T4 758
8 Jik # 378 2 e EEAT B IR T34 758
— LG AHE 357
% W # 8, 521 SEHEET B B LG
HHE 357
1% B % 491 2 RBoR 517
SEHEETHE B4 SR
12% & H 7,408 o 517
3 fife 35
13 8 AR X TF 938 i ik 35
g M W& fifc £ 69
HEHE T FHEE KR 69
L7 fi o i A 1, 395 HFE 538
HAEE 538
18 A fli) 3, 464 i it 65 e ¢ 145
B A A 4 fii e B e 145
A T 103
HFE Y F1R 40
— 5t 10 #E#H

- 207 -




- 208 -

(H) 4 HEBEE

x £ & o B N R -
iR E | % = M R SR
R \
EREHE 5 | e o] 7

™

>
S
oy

ek k
CrBaot
HEyERERBRE (R
Y 58 LR BOR
{53 ik}
e AU PR B 1 TR
B w55 (5 DR
FEXER
a—y — 2K
FITRBIBS £ 1okt
PR YN
AED A%
A4
HoBE S SRS AE
O b el it A 237 85 453
10 15 4 e
WAL TFR
filigh 4>
fiat N2> il Bh 4
Ol ¢4 27 TR IRR¥E
filigh 4>
EL 2T THigh4:
O « BEBHRNFE
A 4
B IR
£ HAE
A A 19 0 5 F A1
EAtl =
EAtl =
THRESE
THRESE
Il 8 A 2
Il 3 A 2




) 10 BHE (| A tEAER

TS 55

HE TR 55

{5 Rt 537

AR 20

Y 2T LR 517

O DD ENWFE 3 373

HEEE 26

HEEE 26

TS 55

HFE TR 55

itk 264

NG RT3/ B am 264

{5 Rt 28

7R b 5 FH 28

Ot &HBEBTLASTHE 169

7= B 72

FEEBH 2 B 72

W& fic 36

HEBHZ AW ERE 36

R HE 24

HEBHERZREMITE 24

PIEES e~ 30

MER S TeE = ¢ 30

TEAS T 7

HAEG) TR 7

O NN « [FEIFIHH HEE 52 289

WmE 72

AR 4 72

o i 28

3 fife 28

#HITHE 33

HEAEEREBEMITE 33

s it ¢ 4

G S 4

MER S TeE = ¢ 69

MER S TeE = ¢ 69

A T 5
INZE

2t 10 #HH

- 209 -




- 210 -

(H) 4 HEBEE

A E E o B OF N R i
(ETEE S S S o ¥oE MR - N P G B
eI Y & "
HFE TR 5
AL 78
L= UEYN AT §=X SR T
s AHe 78
OFEFE 2 2 -8 « HEE
£ 14, 648
HFEE 295
MEESATeE = ¢ 295
FI) il 4 A 8
I il A 8
Yt E K 5,920
IKIER 540
E 5, 380
PREHE: 426
PREHE: 426
st (& fs 2 500
ek & e 500
fii i B e e 50
fifi i B e e 50
(e 170
) 56 R Bkt 170
RSP R TR 1, 260
BB IR F R R ATk 449
22 R PR F R R RE R 529
Bh K 6} ) sk Ak 50
HE) N 7 3 E RS SRR
i 74
THBLR i PR <P 5B R 158
e PR A ATk 5,771
A iESHR e 2,917
ICEE e 2,390
AR E SRR 412
Hr K R R AR 52




) 10 BHE (| A tEAER

Zitkt 113
Y R A AT R 113
{5 Rt 41
NHK « H#7 L E3258 41
R 94
T~ v NEGE SR 94
OFEmES B 177
WE & 125
A T < 81
Al 44
MEESATeE = ¢ 10
MRS ATeE = ¢ 10
ket 8
FEEFELZTARESN 8
A4S T 2
W EY)FR 2
{5 Rt 32
7R I 5 F 32
O ELHREFRE 1, 848
WE & 1, 746
i i a4 <8 1, 680
HERESTAHE 48
o k=& B 18
#HITHE 27
TR BB k& 27
MER S TeE = ¢ 60
MERS A TeE = ¢ 60
A T 11
WY F1R 11
TR 1

;8%%%&@ﬂﬁﬁ%ﬁ
o .
{5 Rt 3
SR 3
O b Bl 7% 355 1,282
A T 2
HAEG) TR 2

INZE

2t 10 #E#H

- 211 -




- 212 -

(H) 4 HEBEE

A E E o B OF N R i
(ETEE S S S o ¥oE MR - =N o 3 B
eI Y & "

i Bh < 1, 280
ERVALY i AN ® iR 280
At 2w Bh 4 1, 000

BT R B L e 29

W fic g 13
W fifc 13

#HSTHE 2
ZREBEHME 2

MRS ATeE = ¢ 10
MEESATeE = ¢ 10

A T 4
Y FAR 4

OfEblEHEFE 263

WE & 138
A T < 138

MEESATeE = ¢ 105
HFEE 105

I il 8 A 2 20
I il 8 A 2 20

Ob <L FELRTHHE 260

WE 20
SR 4 20

#HITHE 60
b )= B A E 60

s it ¢ 4
s it ¢ 4

HAENE 130
MER S TeE = ¢ 130

Jog i 18
[PV 18

I il 8 A 2 10
I il 8 A 2 10

A T 8




) 10 BHE (| A tEAER

HFE TR 8
{5 Rt 10
AR 10

O HIHy 4 E K258 M5B HiBh 5
E 1, 800
i Bh < 1, 800
4 BRSNS B HiBh & 1, 800
OAH-# 32, 244
— R IRAG 15, 242
— R HRAG 15, 242
HETY 558
— IR Y 558
THE T4 308
— Bk #h T 24 308
REfEI 7+ ) B 24 968
— BRI A ) B T2 968
PR ) s T2 20

— R T I B R ) s T
4 20
BT Y 556
— R T2 556
HIRTFY 3, 447
—fRHR R T4 3, 447
T4 2,876
— R el T 2,876
SN 420
— R TN 420
— R TS A A e 2,678
— R T A A e 2,678
— LG AEE 4, 800
— I G AEE 4, 800
— RN T 5 A 37

— RN T S E L A
4 37
— B A A B 329
— Bk A A B e 329
[H 5/ & 5

INZE

2t 10 #E#H

- 213 -




- 214 -

) 10 ZHEE (H) 4 HEHEE
A E E o B OF N R i
H AR E ] B ¥oE MR - N o G B
RG] | oo m | ”? o

— ek IH B AA R A A 5
2 N AR 32,514 30, 852 1, 662 4, 854 27,660 1 ¥ i 1, 235 O REF B E M H 3 2,247
25T AT K 5 i 1,187

3B F 4% 218 SHE RS W (2
KA E) 1,187
43 B B 226 HIRFYH 218

ZEHEET B B IR T4
T B & 790 (NRfFE) 218
— kA A A 97

8 Jik # 178 SEHEETHE Byl E
AiHE (KRR 97
% B # 3,946 PPN g 2 129

S HE BT B SRR
1n#% % % 513 B (AR 129
- i e 20
2% it # 17, 509 3 fife £ 20
WHE fifc 2 7
13 i HORE O 2,577 WHE fifc £ 7
g & HFE 70
HFE 70
L7 fi o i A 3, 260 I il 8 A 2 15
I il 8 A 2 15
18 A4 fli) 2,062 T AS 12
B ONAE AT 42 HAEG) TR 12
(e 478
28 AR RS O DR B R ookt 478
=EiER 14
BRI G &AHE 14
O RERHERF BB B2 3,115
Bk 2,728
5k 2, 680
KIER 48




) 10 BHE (| A tEAER

fifi o 1 f ¢ 20
fifi i 1 s ¢ 20

ek s BT R 367
IR LN 367
OBEARERHZE 782
WE & 640
EREYN RS B 640

W fic 36
Hia A REEEHE i 36

R THE 96
HA SRR R E 96

A T 10
Y FAR 10
ORRERTEE SZEE 55 1, 440
i Bh & 1, 440
NN R ¥ 1, 440

O EfE 24, 380
7= BRI 48

X 2 i 1 e 2= 22 B i 48

WE & 150

T 7 ZHF— N Ed&edn 150

3 fife 3
3 fife 3
#HITHE 16

X E A ek & B E T E 16

MER S TeE = ¢ 1,108
MERS A TeE = ¢ 1,108

fifi i B e e 5
fifi i B e e 5

TAS T 13
HAEG)FAR 5
RES=g 3 & 1

AV EZ =%y NlfEE 7

RSP R EER 660
XE Y 2T LMRSFRITE 660

e PRZS ATk 213
IEEE e 213

2t 10 #HH

- 215 -




- 216 -

() A HSHEE
A E E o B OF N R i
Al AR | b 8 ¥oE MR - N o 3 B
I T & W
FEEH 16, 269
TN =y IRITH

(&) 16, 269
{53 Fik} 1,433
tool 115 Ik} 291
X 27 LFI AR 1,142
FEXER 1,144
MEEEHRY 2T L8 LR 906
OB — M R 238
o LA A 2 260
ECVAT V1Y YN 238
E YN 22
(NG ¢ 3,000
RN ¢ 3,000
AHE 58

BN XESE GRS A
4 3
HAKE 2 A 23

VAL & B E AR A T B &
M (XEE) 32
O BRN R AR Z $EF3E 550
fitiBh 4> 550
FIVA 28 R R 7 R 2 fli B 550
53, 035 15, 787 7, 800 14, 645 46,377/ 10 % M # 1, 820 OFE S & UL DO FR NS PR 3E 68, 817
HFE 50
1% B % 353 HFE 50
Rk 1 Rk e 1, 470
12 % Gt Kb 43,638 s 1B fis 2 1, 470
fifi i B e 300
14 THEAT 22,560 i it 65 e ¢ 300
TR 6

15 J&L 4 Kt % 30 A ) A 2 )V TR




G 10 ZHEE (") 4 HEHEE

17 f o i A % 416 o 6
CrBt 347
24 88 Y & 5 ity pIE PN B 347
ek s BT R 240

W T T R B E R
AUk 240
itk 43, 398
FRE & MR 42,910
Y E s AR ETR 367

TH B E R 78 2 fif A farak
BR MR AR 121
THiEAaE 22, 560

AV Yy g vAR—)LIEY
s T % 8, 267
W REETH 7,143
LR duE TF 7,150
JRA R 30
JiRA R 30
YN 416
AEDE A% 350
W7 L EliEAE 66

Ogieikmﬁﬁ@%%%ﬁ%
& 5
F-+ 5

JEE s & STAb oD AR 2 B i
{4 A1) 1 5
4 §c1tﬁtﬁﬁ 90, 691 83, 857 6, 834 10, 825 8, 648 71,218 1 # i 10, 027 O AL M RGERS B PR 3E 2, 584
L E3=E= 30
2 %5 o 19,117 AL R 2 i 2 22 B 30
WE 60
S B FME 15, 581 SALRE S - o — L4 60
3 fife 7
43 BB 7,944 S it e 7
£ ITHE 14
T OB OB 266 AL R 2 e 2 e THE 14
25t 10 #E#H

- 217 -




- 218 -

1l A2

#) 10 HEH () A HSHEE
A E E o B OF N R i
H AR BRI OB M B ¥ooE M K . , P B B
— AR X 4y &
e e e ow| v

8 ik # 1, 369 ek e 137

4 R L ELARE T SO R BRI
0% B # 4,944 gk 2 K2 ik 137
MRS ATeE = ¢ 40
1% » % 782 HFEE 40
JeEUKE: 8
12% Ft H 13, 599 5k 8
e 1 e 50
13 fF H R KO 382 MR (& fs 2 50
g H 8 itk 2,148
IR LR 1, 648
14 LHEGEAR 5,142 W 2B s SRR E R 30
EWRERERROR 470
18 A fliah 11,516 {5 Rt 6
B ONAE £ 4 HokHE s TR 6
AHE 84

2018 S & 6 xR 52 R A A T T A g 2
BHE 20

26 2 R 16 4 ELR T SO R FEA
Rk AlEg 64
O H Pl g 55 9 i 955 3, 687
2 i FE AT F K 2 e 2,117
2 i FE AT P K e 2,117
HIRTFY 447
ST BHIR F Y 447
3 fife 7
3 fife 7
R fifc £ 54

SN e 2
fife £ 54
MER S TeE = ¢ 100
e E 100




) 10 BHE (| A tEAER

FIJ il A 1
Ytk 365
Kk 33
A 332
e 4 e 50
e 1 e 50
fi e e 4 e 15
fi e s 4 e 15
TS 48
ekt 48
CrBt 12
ity DIE PN B 12
itk 439
B Z 2R T R 88
T B R i O 1 R 2R E R 16
0o 2%y TRIERIER 335
AHE 32
H AWt = A e 20
UM ER 2= A S 5
e YR 2 AEE 7
O HMT R s [ &RHE 2 10, 699
7= 5V 27
7= B 27
G EEAT R 5 3,902
G AT K 5 3,902
HIRTFY 606
SRHE AT BB IR T4 606
— LG AHE 252
SEHEET BB LG
BHEE 252
2 RER 370
ST AT Bt 2 IR bR
i 370
WmE S 50
B 50
3 fife 5
3 fife 5
2t 10 #E#H

- 219 -




- 220 -

(H) 4 HESBEE
A E E o B OF N R
(ETEE S S S o ¥ E TR - . B B
e o e om "

#HSTHE 9
#HSTHE 9

EESATeE = ¢ 180
MEESATeE = ¢ 180

1 il 8 A 2 388
1 il A 2 388

Bk 1,730
Kk 60
el 1, 670

PREHE: 50
ISHEHY ) AR 50

e 1 e 100
e 1 e 100

fif e e i e 120
fif e e 4 e 120

TS 207
HE) TR 105
CofnR e 102

TR 59
T2 T Bk 33
LR R A T 50k 7
HRR T HOR 19

CRBsRt 122
T 56 R Bkt 94
a@@@%&@ﬂ<a%
#H 28

PRSP R ZREER 599
T Bl R i R F R 2R E R 91
AR AR R TR 99
[BY7 S X (e gt & am 104
IR ERFE B Y 2T L -
YT~ U = T RFRAER 198

7N ) 5 S o B s i A




) 10 BHE (| A tEAER

MRtk 107

ek s BT R 351

ElERATR 72

IR LN 237

T ah SR R B RE R 42

{5 Rt 3

HRHER BT TR 3

EER 246

Eanb ) — 2k 191

at—Y — 2K 55

THiEAaE 1,314

N K E R T 1,314

YN Lo 9

Gy i) 9

O b I P 355 4, 289

25 TAE AT K 5 2,937

25 HAE AT K 5 2,937

HARTY 606

SEHEET BB IR T4 606

— B S AEE 252
SEHEETHE By E

BHEE 252

2 RER 370
SEHEETHE B4 SRR

i 370

3 fife 4

3 fife 4

HFE 100

HEEE 100

TAS T 20

WY F1R 20

O+ bt EM = 2 —F3 2,219

3 fife 4

3 fife 4

MER S TeE = ¢ 100

MER S TeE = ¢ 100

Bk E 794

INZE
2t 10 #E#H

- 221 -




- 222 -

(H) 4 HEBEE

A E E o B OF N R i
AR BE | b R ¥oE MR B B
— A { X IN £ E
ARl | e o | A ) &

IKIER 60
G 692
A PAVE i 42
BREHE: 50
BREHR 50
e % i ik 2t 50
e 1 e 50
fif i 1B fi ¢ 15
fi i 1 i ¢ 15
TRk 5
LR L E W A T 0k 5
CrBt 56
ity pIES PN B 56
RN R RER 140
B e i R 2 RE R 33

ZIN{RT ) EE P - 58 B Rst f R
itk 107
Heas s PR TR 86
L IR R PR ATk 86
ik 127
i Bk 120
a—k Y — 2k 7
THiEAY 792
NI KB LH 792
OHMT Ip A 38 fj (e 1 F2E 615
7z 5 84
BT w2 B 84
WE 84
SR 4 48
BENEASER#HE 36
3 fife 7
3 fife 7
#HITHE 72




) 10 BHE (| A tEAER

#HITHE 72
HFEE 30
HFEE 30
PREHE: 20
BREHE: 20
fii ot 1 s ¢ 85
fifi o 1B f 2 85
TS 100
HE) TR 20
ekt 80
FHR 19
BT BOR 19
CrBst 57
H ) L R R ((ERD 29
HE) R FERBRR (3 kR
) 28
AHE 50
2 EEAR IR S LR AT
WX g AiEe 50
N L 7
Gy i) 7
OfEM SRR A B B B2 14, 343
#HITHE 492
£ ITHE 492
R fifc £ 181
R fifc £ 181
MER S TeE = ¢ 50
MER S TeE = ¢ 50
I il A 10
I il 8 A 2 10
Zitkt 4,610
R BERGHE A S RIOR 168
R EIR S BFRCER &
bk 4,393
EARHIEE TS 7L — b B
Ziatkt 49
fitiBh 4> 9, 000
2t 10 #E#H

- 223 -




- 224 -

) A HAKE
Kk E E o M BN R
B E | B W E - B
" * ~ I &
ERLHG] | 2 o

(AR HI PR AT G B R AT

B 4>
OF blr ARFH A

Fv-

B 7o ARAFIE SR 1
O 35 3€

HFEE

HFEE

FI) il 4 A

I il A
OIHHEARR PR 955

25T AT K 5

25T AT K 5

HEEE

HREE

2K E

Kkt

AR

sk & Rk e

Rk 1 Rk e

TEAS T

CfnR e

CRBsRt

T 56 R Bkt

RSP R ZREER

B R fi R 2T

fsax & B2 TR

A iESHR e

ICEiE AR
ORKREL & BZE

R fifc £

R fifc £

MER S TeE = ¢

9, 000

101
100
100

1,413
930
930

50
50
85
34
51
50
50
60
60
17
17
27
27

194

61

133
3, 156

70
70
50




) 10 BHE (| A tEAER

HFEE 50
THiEAE 3, 036
HHDA F 3 7 HEH i
T 3,036
O%: H & 2 UL I R R A 157
matrEAEH RSB 2, 500
A 3 fife 50
- ik e 50
HFEE 100
HREE 100
AHE 2, 350
2 [ S S b A R FE
R EEAEH RS AR
& 2, 350
OA=AEI SV RE R AT 1 X B 55T
1] SR 3 S 5, 340
WE & 72
B 55T R E = B a2 B
& 72
R HE 256
R TE 256
MER S TeE = ¢ 7
MER S TeE = ¢ 7
Zitkt 5, 005
B 55 Gt ok E =R TR 5, 005
OANtFE 39, 739
— R HRAG 19, 117
— R HRAG 19, 117
HEFY 840
— R Y 840
FEEFY 282
— A Y 282
)T 454
— S Mk 3 A T2 454
IREFAI AL 8 15 T4 913
— BRI R A ) B T 24 913
PR 5 s T2 20
2t 10 #E#H

- 225 -




- 226 -

4 R BHEE

E oo WM OJE N ER
H AR AP A E M ) G B
— AR X 4y 4 A
o5& oMl
— A B AR ) S T Y 20
BT Y 556
— R T2 556
HRTFY 4,078
— BRI R T 24 4,078
T4 3, 285
— IR T2 3, 285
S Y 840
— ek R T2 840
— R S A A e 2,654
— R T S A 2,654
— B S A e 5,910
— L S A S 5,910
— RN K EAHE 45
— RN s S E R E LS A
4 45
— R A £ B e 440
— kA A A B 440
2 RER 300
T & 4L & CRBok 300
IHEGH G2 H 5
— Bk IH B AA A 5
it 255, 243 25,927 7,800 34,043| 201, 283
R 10 HEL 5 (RIEAE £
1 RIEAT | 172,714 142, 074 80, 000 33, 620 44,094 1 ¥ 336 | Ol (A G Fa 15 P g 3 454
BTt e e 20
2 %G 14, 317 M58 kB 20
WHE fifc 2 31
SR T % 12,753 WHE ik 31




) 10 BHE (H) 5 PRIEAH

43 B 4, 845 HREEE 30
MRS ATeE = ¢ 30
T B & 50 A T 93
HFE TR 93
8 ik # 575 itk 135
T— VEERE TR 135
0% H % 126 J=REE 145
B 2R —Y KEpHse 59
1% % % 93 BN—FBRIz K& HE S 10
R2ZR—rinaads 76
12% Ft H 1,116 O AR — Y #EHELR B F3E 912
FEH Bk B A 336
14 THGEAT 84,294 2R = HEHETR B i 336
W& fifc 350
18 AL HHi) 54, 209 FMHX. 2R — Y {EHE R B
B ONAE ) 4 W7 K5 i 246
VeI Z R — ) HEHEZE B b
B nlkE 36
VeI 2R — > HEHE R B 52
FihHE 2 mmg 36
Ve LAV 2R — Y HEHE RS
BhHE S S kg 16
PG 2R — Y #HEER B
WHE 22 hnlic 16
£ ITHE 112
2R — {EHET B HE 112
HFE 66
HFE 66
BHE 48
B 2R — Y HEER Bk &
HHEE 38
B 2R — Y HEHER Bk &
HHT IR K& A 10
ONT R ZHR— K&FHE 931
Zitkt 931
W 2R — Y K& @k E
Zitkt 181
2t 10 #E#H

- 227 -




- 228 -

510 HER G0 5 RIKE T
Kk E E o M BN R i
q KRR | BB W% E M R B
" * ~ e A & %
ERLHG] | 2 o

EEZ%—Vﬁéﬁﬁﬁﬁ
ORR—VHEHHHE

RIEE:

Hinfl
e E

P E
HERSATIES

HEE TR
ZRbk

i = 2 — AR — VY Zit
it

i 8D 4>
W] 2 78— I &l ) 4
O TR 2R —> 2 5 THK
¥
fHiBh 4
AT 2R —> 25T
HiBh 4
OERZAR—Y KaHE
j=Eiskes
B R 2R — Y K& TS
TEARSAES
OHER 2R — K& a5 i 43
THeEAaE
JTAN)TT 4V IR
B i # i 1
JTAN)TT 4V IR
TR S i
AT RS R R R v 2
T LRRIE T E
OANtE

750
192
50
50
62
62
30
30
50

50
5,416
5,416
5,416

100
100

100
48, 500
48, 500
48, 500
84, 294
84, 294
46, 200
18, 864

19, 230
31,915




) 10 BHE (H) 5 PRIEAH

— R HRAG 14, 317
— R HRAG 14, 317
HRETY 996
— IR Y 996
FETYH 144
— IR S T2 144
THE T4 280
— S Bk #h T 24 280
REfEI 7 ) B 24 2,950
— BRI R A ) B T 24 2,950
WARTY 3, 057
— BRI R T 24 3, 057
T4 2, 420
— IR T 24 2, 420
STy 1, 020
— kR T2 1, 020

— BRI T 241 A A G 1, 886
— BRI T S A A e 1, 886

— I S AEE 4,201
— IR S A S 4,201
— R AN s 5 T A 4 21

— RN T S E L A
4 21
— Bk A A B e 320
— Bk A B e 320
2 RERR 300
T & 4L 2 CR Bk 300
HESH G EH 3
— Bk IH A A 3
2%%&? 28, 964 17,676 11, 288 8,971 19,993/ 10 & H % 8, 493| OfF F sk % B HE h 3¢ 8, 320
e A e 950
# 1% % % 949 Y 250
I il 8 A 2 42
12% Ft # 11,312 I il 8 A 2 42
Bk 350
13 8 AR X TF 1,518 ek 180

INZE

2t 10 #E#H

- 229 -




- 230 -

) 10 AEE (H) 5 RIEEEE
A E E o B OF N R i
H AR E ] B ¥oE MR - N . B B
el e & |2 om| e B & "

g H 8 XUk 170
BREHE: 20
14 THEAY 6, 572 BRKL 2 20
Tt (& fs 2 1, 000
15 J& ¥ K # 120 e i e 1, 000
fifi i 1 s ¢ 100
fifi i 1 fi ¢ 100
FHR 150
P IRHOR 150
CrBt 69
ity pIES PN B 69
ek s BT R 645
FIL A RS FEZREER 128
NSRS RRTR 406
U5 ZERGE ROk 111
THEAaE 5,574

FREFEHE) E—boy 2
S R 7 s T 5,072

DE— b Oy ZHHE T
kA 502
JRA R 120
JRA R 120
O3ULARE i bl fl i P = 2 2, 282
Bk 740
KIER 140
5k 600
TS 72
AV EZ =%y NlfEE 72
[ENE e 133
Y K DR Bk 133
RSP EER 246
THBL R PR <P 225 E R 149
Bh K 6} ) sk A0k 97




) 10 BHE (H) 5 PRIEAH

ek s BT R 1,024
IR LN 1,001
T THUEZER 23
itk 67
Y R A AT R 67
ORIk S s s P F 3 5,615
JeEUKE: 2,790
Kk 290
G 2,500
TS 110
ekt 110
CrBt 100
ity DIE PN g B 100
RS R RER 511
B L SRR 356
B a% i R 2 RE R 75
B KR ) i e Rtk 80
e s BT R 2,104
ek s BT R 1,760
H i TR 344
OB IMAE B sl s P35 2 3,233
Bk 848
KIER 48
5k 800
FEk 11
IRE A TR 11
[ENE e 32
) 56 R Bkt 32
PRSP R ZR TR 37
B R fi AR 2T 37
e & PR A ATk 1, 307
L IR RE A PR AR 67
ICE e 622
Ty THERELR 23
Hr oK B R AR 52

AL RS 5 Je i H 1 555
BERER 543

INZE

2t 10 #E#H

- 231 -




- 232 -

(H) 5 RIEEEE
A E E o B OF N R
(ETEE S S S o ¥ E TR - . B B
e o e om ®

THiHAaE 998
THiEAaE 998
OBy # —laE M3 2,505
Ytk 1, 060
Kkt 60
5k 1, 000
FHR 17
LR K B W AT 5ok 17
CrBst 84
ity DIE PN B 84
RS R RER 149
B e i R 2 RE R 89
B L SR ZERER 60
e s BT R 1,195
LR RS R A0k 715
IR LR 369
8 P i fm 2tk 72
Ty THERITR 39
O g 5h 2 [ it a3 i PE 3 5,105
Bk 940
KIER 90
5k 850
FEk 160
MY FHOE 160
[ENE e 11
) 56 R Bkt 11
e & PR ek 3, 994
TEPT O A S =T R 330

R ORER « %
BHLATR 3,612
Hr oK R R ATk 52

OV H 7 e & 8] 8 B fite 2 i 21
L3 386




G 10 HEH (1H) 5 {RIEIRH L
FEEOK B 353
IKIER 13
G 340
PRSP RBRRAER 33
VY F 7 ] B B i R ST AR
ALk 33
Oz2~7—bk By 2 KR T
2T LEHEFE 1,518
{58 R 1,518
Y 2T LEHE 1,518
s 201, 678 48,316| 153,362 15, 000 80, 000 42, 591 64, 087
GR) 11 KEEIHE () 1 EEROKEE sk 5 1R IH
1 RERE 1,030 1, 030 0 800 100 130 8 Jik b ¢ 18| O b 2 3% A B ek 58 E AR IHF 3 1,030
18I 3 i e 18
13 i OB XY 12 W 3 fif ¢ 18
g B # {sf F ke 3 12
HEhE g1k 12
14 THEAR 1, 000 THEAY 1, 000
THiEAY 1, 000
H 1, 030 1, 030 0 800 100 130
) 11 KEEIHE () 2 AR HEEE S ER IH
1 2FEK 1, 000 1, 000 0 1,000 14 T.HE AL 1, 000 | O™ Bk §¢ T8 [H F3E 1, 000
KEHEIA TEHEAE 1, 000
# WY B S =0 [H T 1, 000
H 1, 000 1, 000 0 1, 000
R 12 NMEE (I7) 1 ANEE:
1 T4 877,791 862, 005 15, 786 12,982| 864,809 22 (B4 K+ 877, 7191 O£ MG T & (B 2 T 877,791
K OVE SR =8 877, 791
— i Et 10 #E%

- 233 -




- 234 -

G 12 NfEH (TH) 1 &
K HFE FE o B R AN R i
H AR E AT E ] O ¥ oE M R B
. ) = —ER | K | & #
ERZHAe| # F & |+ o
F S TG 1B 4 (4E%4F
JE55) 877, 791
2 Fl+ 50, 041 67,404 A17,363 4,614 45,427 22 (B 4E K| 50, 041 | OF I FI 15 1= 4 50, 041
S OVE 5 R ET= 4> 50, 041
EMER TERE S 50, 041
3 NE#AE 124 100 24 124 22 {324 Fll+ 124| O— W A7 124
S OVE 5 RE fE = 4 124
— R AT 124
&t 927,956| 929,509| Al,553 17,596| 910, 360
Gx) 13 a2 (T7) 1 e
1 2FTFK| 310,000  315,000|  AB, 000 310, 000| 18 &4 #HEh| 310, 000 | O T KB LN E 310, 000
BN E A K O A 4 filiBh 4> 310, 000
X NITKEFHESEAIESE 310, 000
2 BRI 56, 600 47, 336 9, 264 56, 600| 18 A {H4  #iB) 56, 600 | O EELE PR FENE MER 56, 600
PEK 3 B O A 4 filigh 4 56, 600
INE A RO FESE SR
# & 56, 600
3 F s | 150,000 140, 000 10, 000 150, 000| 18 €4 fliBh| 150, 000 | O bkl fif e F3E NV % 150, 000
i i = B O A 4 filigh 4 150, 000
B /N T bl e i TE 5 S 25 5l
X Bh4: 150, 000
&t 516,600 502, 336 14, 264 516, 600




() 14 Tt

() 1 Tl
1 % 20, 000 20, 000 0 20, 000 O 1 it 20, 000
Tt 20, 000
Tt 20, 000
g 20,000/ 20, 000 0 20, 000

- 235 -



